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output

0.500912724
0.304927043
0.223999883
0.185455886

0.301246846
0.40991515

0.621385785
0.732367781
0.854840194
0.753472695
0.657707115

0.45306966

0.407294902
0.36380285

0.323664424
0.287867966
0.257294902
0.232698043
0.214683045
8. 303693498
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> train <-read.csv(“ch141.csv”, header=T)

> valid <-read.csv(“ch142.csv”, header=T)
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> sin1 <-nnet (output”input,data=train,size=1,maxit=1000)

> yosoku1 <-predict (sin1, valid)
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> plot (valid, type="“b”, pch=16, ylim=c(0,1) )

> points(train, pch=16, col="“2")
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03 <- subs?:t(ol,01$trial=="New") .

> points (valid $ input, yosoku1, pch=16, col=“4")

> lines (valid $ input, yosoku1)
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